2021 £ REG BF (1HD)

(/& 1] (B 25)
(1) 128

(2) Bx+y)(x—4y)
(3) 12

(4) 4a+2b

—4
( 5 ) (x+2)(x—1)(x-3)

(RIRE 1) (Bds. 25)
(1) x=-2 0L X, H/MEIT-4
(2) m<—4

(3) y=%x+1
(4) P£1% 5, Fh00F (1L,1)

(5) il (=1, 2) K8 O

(F I ) (Bl 25)

(1) +

ut ]

(2)
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(3)
(4) 1
(5) 1
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(MEEIV] (Bl 25)
(1) 1

(2) y'=—6x*+6x—4
(3) y=2x+4

(4) 4

(5) f(x) =6x%2+6x—4

BAAEIT 2 L



2021 £ REG BF (IHD)

(FE T ) (Bdsl 25)
(1) x*—2x?+1
(2) Rx+D(x—-v)

(3) 38

11
(4) x=-2, 3
(5) 7#7

(#RE ) (Bdai  25)

(1) wKRMEHRAMESFEL R,
(2) m=—4, n=-3

(3) (4, 0

(4) & 3,-1)

(5) —x+2y=10

(F I ) (Bl 25)

(1) cost9=—‘/;, tang = — V7

(2) sin(—60°) = —\/73_’ cos(—60°) =% tan(—60°) = —/3
(3) o==2m
(4) o

7V65

7 .
(5) tan ==, sm9—?

(V] (Bl s 25)
(1) fl(x)=3x*—x—-1
(2) a=-4
(3) 2 cm

31
(4) 2

(5) 2
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(I 1) (Bl 25)

(1)
(2)
(3)

(4)
(5)

(/&

(1)
(2)
(3)
(4)
(5)

(/&

(1)
(2)

(3)
(4)

(5)

(/&

(1)

(2)
(3)
(4)
(5)

2x%y? + 5xy — 3

12

5

4

a=1, b=1
2<log,24<log,6

I (Flsi 25)
y=x?-2x—4

a=2, b=-6

2

—2x+V5y =9

Hulr (5, 0), B 4 O

1) (B 25)

cos @ = _ﬁ’ tan @ =i€
7 12

JEI 441

-

T 4m,

T

WX —2sy=s2

I\ (Bl 25)

D x4 x—5
dx

y=3x-9
x3—2x2+2x+C (C:HEHTH)

1

125
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2021 FEMBRED HKF (IH)

(/& 1] (Bl 15)

(1)

7 2 A @ = 4 A (5)

(/& I ] (Bl 20)

(1)
(2)

3)
4)

~~

[F’ﬁ

~—

computer cost him his whole salary
soft enough for the baby to eat
She 1s determined to finish the job whatever happens.

He has thousands of books in his office.

1] (Bl 20)
DEBIE, EVEMEE EORAIZ LV faakv 7z LEH A

(FEIV] (Bl 20)

(1)
(2)

3)
4)

~~

[F’ﬁ

~—

Ho., (Fhzx) T H>0EENTWE L, T<IC, MEICHRIYTET,

HEZF-ETLDIZENLS BWVWDOBENLETE L HWE T,
REOERNCHEZBE L TV ERAN?

ToftdE (1) 2FTT5028F TND &iF, BT THHRIE,

V) (Bl 20)
DEBIE, EVEMEE EORAIZ LV faakv 7z LEH A,




2021 FEMBREH HKF (IH)

(/& 1] (Bl 15)
n 7 2 A 3 = 4) v (6) =

(RIE ] (Bds 20)

(1)  price of tea rose by 100 yen early
(2)

3) It is impossible to know what will happen in the future.
(4)

felt something soft touch her leg in the

~~

He had to go to hospital every other week.

(FRE ) (Bl A5 20)
ZDOEIE,. EEEE LOFHEIZ I BV LEE A

(MEEIV] (s 20)

(1)  Z @ LED \EKIIMMOMZ EEREZ LT L L,

(2)  FUIRE L THIZERRFICSIN LI v & g,

(3) M FL TVDINENKWOTZDIZENTWET,

(4)  VWOLBFIHBETHI DT TIEHY A, THUTIT 4 a il EzT,

(FIE V] (Bl A5 20)
ZDOEIE,. EEEE LOFHEIZ I BV LEE A
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(/& 1] (Bl 15)

(1)

7 2 v @ v 4 7 %) A

(/& I ] (Bl 20)

(1)
(2)

3)
(4)

~~

[W

~—

the very book which I have been in search
live within a kilometer of Osaka Station
She thought it best to remain silent.

I will give him what help I can. / help him as much as I can / possible.

1] (Bl 20)
DEBIE, EVEMEE EORAIZ LV faakv 72 LEH A,

(FEIV] (Bl 20)

(1)
(2)

3)
(4)
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AL OB 2 Eo THESICEBR L 72V E B E T,

EERJERE DN TEA~— b7+ OEMRIZTE A,
HKMNIEEICFHEE > TWE LN, HRICITESOEZEZXZHBELTH L R,
IR OBMN 2T EE0 7 a2 NEFREBT L EIETE RN T
LXx9,

V] (Bl 20)
Doy IE, FEEHEE EOREIZ L 0 B 72 LER A,
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